ASSEMBLY
INSTRUCTIONS

Allen Wrench

(Included)

Phillips
Screwdriver

(Not Included)

2 - People
Recommended

SO

EASY —» DIFFICULT

1/11



CHECK
BEFORE STARTING

|:| Are you missing anything? |:, Check out our Quick Tips!
Double-check all parts, hardware and We recommend reviewing the pre-assembly
accessories listed are all acccounted for. handouts. Even experts need a refresher now and
then!

2/11



3/11



4/11



DRESSER & MIRROR

PARTS

@ @ ® @ ®

s Q »

DRESSER METAL LEGS CENTER LEG MIRROR MIRROR SUPPORT RAILS
1pc 4pcs 1pc 1pc 2pcs
HARDWARE

® ® © @ © ®
\ e © b

ALLEN WRENCH BOLTQ 5/16" x 1" LOCK WASHER @ 5/16 . FLAT WASHER @ 5/16 “x19MM  ANTITIP KIT
1pc 8pcs 8pcs 8pcs 1pc

KB ©) (&), @

\ @ @

ALLEN WRENCH BOLT @ 1/4" x 1 1/2” LOCK WASHER @ 1/4 “__ FLAT WASHER @ 1/4 “x19MM
1pc 8pcs 8pcs 8pcs

@)))))))))))))))))))))

5/11



EXPLODED VIEW

118 916

6/11



packed in 2 cases

Carton Disignation Part Hardware

(F #A x1pc
Dresser | #1 Ojmm #B x 8pcs
@)  #C x8pcs
#D x8pcs

Metal legs | #2 @ P
@’ #E x1pc

Centerleg |#3 @'
™S [ #F 1

Mirror #4 ‘ X e
O #G x8pcs
@) #H x8pcs

Mirror | #5 /

Support rails (©) #I x8pcs

7/11




ASSEMBLY INSTRUCTIONS

1. Part#1 x 1pc
Part 2# x 4pcs
Part 3# x 1pc
Hardware # A x 1pc
Hardware # B x 8pcs
Hardware # C x 8pcs

Hardware # D x 8pcs Take the leg box out
of the drawer

Align the Metal Legs (#2) , Center leg (#3) to the
bottom Dresser (#1). Secure by using Bolt (#B) with
Lock Washer (#C) and Flat washer (#D) Allen
wrench(#A).

8/11



ASSEMBLY INSTRUCTIONS

2. Part #1 x 1pc
Part 2# x 4pcs
Part 3# x 1pc
Part 4# x 1pc
Part 5# x 2pcs
Hardware # F x 1pc
Hardware # G x 8pcs
Hardware # H x 8pcs
Hardware # | x 8pcs

™

Attach the Mirror(#4 )and Mirror Supports Rail (#5) to top Dresser (#1) .
Secure by using Bolt (#G) with Lock Washer (#H) and Flat washer (#l)
Allen wrench(#F).

9/11



ASSEMBLY INSTRUCTIONS
3. Hardware # E x 1pc

Use anti-tip kit to secure Dresser to the wall.

10/11



ASSEMBLY INSTRUCTIONS

Wall Mounting and Fixing

= ey
EXPANSION WALL ANCHOR - &

Qur provided expansion wall anchors are
only suitable for masonry walls, such as
drywall, plaster or concrele, and are best for

halding lightweight items or for anti-tip : ,
ovmvmation., i yousms unss of e coecl CHECK BEFORE PROCEEDING
wall anchor to use with the product, please Prior to drilling or hammering, please check for wiras or
request professional guidance. liability for pipes. We recommend using & stud finder to locate a
product damage or failure due to using the stud, which will offer more appropriate resistance and
incomect anchors will fall on the installer. hold more weight.

QUICK TIPS

2. Match the drill bit to
the wall anchor and hole

1.1 unsure of the proper
size, always choose a

larger screw and wall size.

anchaor,

3. Only drill horizontally. { 4, Take exira care when

Do not force the drill or } drilling into high walls or

enlarge the hole for the - ceramic tiles. Wall

wall anchor. % anchors should be a tight
fit for the hole. Newver use
wall anchors in ceilings.

We recommend a yearly check 1o see If the wall anchor or
MAINTENANCE screw has loosened. If so, please remove the existing wall
: anchor and screw, and use a new anchor,

11/11



